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1: Which of the following river is not source of glaciers?
(A) Yamuna

(B) Alaknanda

(C) Kosi

(D) Mandakini

ANS:- Kosi

2: Which statement about Daman and Diu is true?
(i) In Post-independent India it was under British
occupation.

(ii) There is a Gulf of Khambhat between Daman and Diu.
(iii) Its capital is Daman.

Code:

(A) (1), (i1) are correct.

(B) (i1), (ii1) correct

(C) (1), (i1), (iii) are correct

(D) None in the above

ANS:- (ii), (iii) correct

3: Assertion (A): Lignite is a poor grade coal, in which the
carbon content is 35 - 40 percent.

Reason (R): Jharkhand is the leading producer of lignite in
India.

Which of the following is true with reference to the above
statements?

(A) (A) and (R) are both true and (R) correctly explains (A).
(B) (A) and (R) are both true, but (R) does not correctly
explain (A).

(C) (A) is true, but (R) is wrong.

(D) (A) is wrong, but (R) is true.

ANS:- (A) is true, but (R) is wrong.

4: Which of the following can give both power and
fertilizer?

(A) Nuclear plant

(B) Thermal plant

(C) Bio gas plant

(D) Hydroelectric plant

ANS:- Bio gas plant

1: FEAIHTA TR F1 A REae A T8 2
(A) g1

(B) 3{AH-ial

(C) Bt

(D) Tt

ANS:- BRIt

2: THAMMRNAFIRAPT- T HYTIAAR ?
(i) T & a1 fafesr st d ot |

(i) AR AP T @A P TSI § |
(i ) SHDI AU AR |

PC:

(A) (i), (i) T8 |

(B) (ii), (iii) ¥&I 8

(©) (i), (ii), (ii)TEI8
(D) SIS H HIs Ta!
ANS:- (i) , (iii ) TET &

3: PYF (A ) : Rrmge Fpy Fife o1 wigen 2, foraw srd= amn
35-40ufaea g |

PRI (R ) : R & FIRGS forTge T Jdug@ UG ¢ |
Sd YAl & A A Ffrfa A d s a2

(A) (A) 3R (R)INTIAE MR (R), (A ) P! TS AR BT S |
(B) (A) 3R (R)INIAE, W (R), (A) P! Fe! RS el
PRATR |

(€)(A)IAE, WY (R)TAAG |

(D) (A) T 8, R (R) FAE |

ANS:- (A)TE@E, W (R) TGS |

4: FufafEa d @ H9 afF aur T QA ¢ aFars 2
(A) TP TOF

(B) ATGR §4=

(C) TN T4

(D) FRG QT T

ANS:- LS pE|
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5: Match the state to which they belong

1. Mopala A. Odisha

2 . Muria B. Tamil Nadu
3. Toda c. Kerala

4. munda D. Chhattisgarh
Code:

(A)1-C,3-B,2-D,4-A
B)1-D,2-A,4-B,3-C
©1-A,4-C,3-D,2-B
D)1-c,2-D,3-B,4-A
ANS:-1-C,2-D,3-B,4-A

6: Which pair of the following 'nuclear plant' is correctly
matched to its 'year of commission'?

(A) Kota - 1989

(B) Kakrapar - 1993

(C) Kaiga - 1999

(D) Kalpakkam - 1992

ANS:- Kakrapar - 1993

7: Which of the following geological rock order of India
has rich iron ore deposits?

(A) Vindhyan sequence

(B) Kudappa sequence

(C) Gondvana order

(D) Dharwad sequence

ANS:- Dharwad sequence

8: The Pong Dam is built on which river?
(A) Satlyj

(B) Ravi

(C) Chenab

(D) Vyas

ANS:- Vyas

9: The subtle element which is most lacking in Indian soils
is-

(A) Copper

(B) Iron

(C) Manganese

(D) Zinc

ANS:- Zinc

10: Statement (A): Black soil is suitable for cotton
agriculture.

Reason (R): Nitrogen and organic matter are abundant in
it.

Select the correct answer using the codes given below-
Code:

(A) Both (A) and (R) are correct, and (R) is the correct
explanation of (A)

(B) (A) and (R) are both correct but (R) is not the correct
explanation of (A)

(C) (A) is correct but (R) is wrong.

(D) (A) is wrong but (R) is correct.

ANS:- (A) is correct but (R) is wrong.

5. gAferd Fifore g =0 § 3 Gdfta §
1. Higer A.SnfE=m

2. giar B . afieTg
3.QrsT C.®Hvd

4.9s1 D . SUINTG

Pc:

(A)1-C,3-B,2-D,4-A
(B)1-D,2-A,4-B,3-C
(C)1-A,4-C,3-D,2-B
(D)1-C,2-D,3-B,4-A
ANS:-1-C,2-D,3-B,4-A

6: FufafEa e W &1 39® T e Fraf A=
1Y HE GaAferd § 2

(A) BICT - 1989

(B) BTIRIUR - 1993

(C) BT - 1999

(D) HAYGHH- 1992
ANS:- BTHRMIR - 1993

7: HIRG & e Wifreta 9o w0 7 9 foad o s
PT I HSR UTIT ST 8 2
) demwa
(B) psWIH
(C) MUSaMT HH
(D) YRATS s H
ANS:- YRATS HH
O gy P TR W e T g 2
(A) st
(B) 3t
() e
(D) 4
ANS:- O™

9: URdIT gersi # fore Yeu o #t waiftes $i 2, 95 8-
(A) sl

(B) T

(C) AT

(D) SIT

ANS:- O ¥dT

10: BYT(A) : BT Ut Uy o1 HY & fore Sugaa At 2 |
PRUT(R ) : ITH A3 9T A7 Ui TR AT A U S § |
2 few 1T Fe &1y B FE SR Y-

PC:
(A)(A)TUT(R)SFITEI 8 AUT(R) (A ) P! T ARSAT® |
(B) (A)TUT(R) QI W8I 8 W (R) (A ) P! IgI AT o1 © |
(©)(A) TS TWRI(R)TEA S |

(D) (A)TAT S IRG (R) &1 3 |

ANS:- (A) I WG (R) T ¢ |
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11: Assertion (A): Yamuna river is dead between Delhi
and Agra for most of the year.

Reason (B): Yamuna is a polluted river.

Choose the correct answer from the code given below-
(A) Both (A) and (R) are correct, and (R) is the correct
explanation of (A)

(B) (A) and (R) are both correct, but (R) is not the correct
explanation of (A)

(C) (A) is correct, but (R) is wrong.

(D) (A) is wrong, but (R) is correct.

ANS:- Both (A) and (R) are correct, and (R) is the correct
explanation of (A)

12: The region of Pudduchery is found divided in which of
the following states?

(A) In the states of Tamil Nadu, Andhra Pradesh and
Mabharashtra

(B) In the states of Tamil Nadu, Karnataka and Kerala

(C) In the states of Tamil Nadu, Kerala and Andhra Pradesh
(D) In the states of Tamil Nadu, Karnataka and Goa

ANS:- In the states of Tamil Nadu, Kerala and Andhra
Pradesh

13: The text of ancient India, translated into 15 Indian
and 40 foreign languages is-

(A) Hitopdesh

(B) Panchatantra

(C) Kathasaritsagar

(D) Abhigyanshakuntalam

ANS:- Panchatantra

14: Which of the following statements is not true about
the 8th Century Saint Shankaracharya?

(A) He established four Dhams in different areas of India
(B) He banned the expension of Buddhism and Jainism

(C) He named Prayag as Tirathraj

(D) He spread Vedanta

ANS:- He named Prayag as Tirathraj

15: Whose coins contain engravings on Buddha?
(A) Vim Kadphises

(B) Kanishka

(C) Nahpaan

(D) Buddha Gupta

ANS:- Kanishka

16: The following person came to India sometime-
1. Fa-hein

2. I-tsing

3. Megasthenes

4. Wein-sang

The correct chronological order of their arrival is-
(A)3,1,2,4

(B)3,1,4,2

©) 1,3,2,4

D) 1,3,4,2

ANS:-3,1,4,2

11: BYT(A) : feeeht 3R 3mRT & Ao 9df & e vy #

AT A 7 81 el 21

SR (B) : TYT TP a1t 21

+14 ey 7T Fe @ T SR gfe-

(A) (A)TUT(R) SIS E, TUT(R), (A ) P! TS ARAT B |

(B) (A)TUT(R) TN T E, W (R), (A) B T&) ARSAT eI B

(©)(A)FEI 8, W (R ) Teidl &

(D) (A) eI 8, W (R) eI 81

ANS:- (A ) TUT(R) ST G &, GUT(R), (A ) B! T ARSAT B |

12: g%ggﬁﬁmaﬁﬁaﬁr@aﬁﬁﬁﬂﬂmﬁﬁﬁmmw
ST g 2

(A) AHETS, 3y U= Ud HRTY Il o

(B) ATHTHTS, il Ud od ol |

(C) ARG, Bl TS YU I |

(D) AT, Ficd SR Mar Isat F

ANS:- AT, $3d Td TumeRT Ireal

13: U YRd P 98 JY 9T 15 WRdg vd =reiy faezh
YIS & 3gaTg garl-

(A)T?Fhﬂ%—‘n

(B) Ugaa

(C) HYRIRITR

(D) SHHRTRIGIeTH

ANS:- UddA

14: FFafefad Sy & ¥ S A1 Tedl Tt &b IFd HHerEr
FINATN TR

(A) S YRA & 4t &= o IR 4 wiIfud fy

(B) 311 S qUT oI 4Hf & IR W A TS

(C) 311 YA BT fteRreT A fean

(D) S dgid BT U9R faar

ANS:- 3211 WarT $Y FteRrer am fear

15: g5 &1 fpad Ragsl W 3ip- gane?
) T psftra

(B) HH

(C) T8I

(D) I

ANS:-

16: frafeafaa safed yrRa # fedt 7 <t 3wa sme-
1. BT

2. gfQAT

3. AR

4. QAT

ITPAA BTHHE -

(A)3,1,2,4

(B)3,1,4,2

(©)1,3,2,4

D) 1,3,4,2

ANS:-3,1,4,2
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17: Which emperor of Magadha is known as 'Aparo-
parashuram'?

(A) Bindusar

(B) Ajatashatru

(C) Kalashok

(D) Mahapadmananda

ANS:- Mahapadmananda

18: There is a similarity between Avesta and Rigveda.
What is Avesta related to region-

(A) From India

(B) From Iran

(C) From Israel

(D) from Egypt

ANS:- From Iran

19: Which of the following is true. The symptoms of Indus
Civilization are accurate.

1. Their grand palaces and temples were used.

2. They used to worship both Goddesses and Gods.
3. They used chariots drawn by horses in battle
Use the code given below to

(A) only 1

(B) only 2

(C)1,2and 3

(D) None of these

ANS:- only 2

20: Which of the following South-Western Asia has not
spread to the Mediterranean Sea?

(A) Syria

(B) Jordan

(C) Lebanon

(D) Israel

ANS:- Jordan

21: Consider the following statements and choose the
correct answer from the codes given below-

1. Cuba is called the 'sugar bowl' of the world.

2. Hong Kong is the exclusive administrative territory of
China.

3. United States is the leading producer of milk in the
world.

4. Australia is a federal state.

Code:

(A) Only 1 and 2

(B)Only 1, 2 and 3

(C)Only 2,3 and 4

(D) Only 1, 2 and 4

ANS:-Only 1,2 and 4

22: Which mineral list shows non-ferrous metals?
(A) Nickel, zinc, copper, aluminum

(B) Nickel, Aluminum, Iron Ore, Zinc

(C) Copper, cast iron, nickel, steel

(D) Nickel, Carbon Steel, Aluminum, Zinc

ANS:- Nickel, zinc, copper, aluminum

17: WY BT HIH-T YIS SRIRIRTH’ F ATH A ST SI16T 872
() figar

(B) S1SITdRg

(C) HIARNG

(D) HETHRIHG

ANS:- HETUSE

18: SATT 3R HIAG A FHT ¢ | 33T fpy &7 | Jafta g2
(A) HRA Y

B)RAY

(OECIESE]

K

ANS:- S I

19: fFRufafaa ® Q19 QU @ deor Rig Taaar & @ o1 98
o1 HRar g/Pva 82

1. 39 far=me wga o wieR 81 & |

2.3 Ay 3R Agansi G FI g HRa A |

3.3 g W Os) gRT T T 34 BT T HRa A |

(A) Had |

(B) $had 2

(©) 1,233

(D) TH AP !

ANS:- Hqd 2

20: Sféror-uf3edt ofRr @1 fFufafea A 9 ST Te 3w
YWY a9 Har el 82

(A) Tifean

(B) SreA

(©XSERIE

((OEENEN

ANS:- SiTe

21: Fafafad sy w faar $ifoe gy R o 7e ge 3 a8t
S T

1. FET B fay o1 At BT FeRT BT R

2. TR 19 &1 fafry wxmafae udwr 81

3. TOR ¥ Yo o9 SARET gU BT vl STe® 8l
4. I feran v Wit s 21

ﬁ:

(A) Had 1 qUT2

(B) Had 1,2 T4 3

(C)Had 2, 3 dqUT4

(D) Had 1,2 qUT4

ANS:- $ad 1,2 TUT 4

22: HIF-A Wi Gt sree urgs &1 gwifd 8-
(A) ord, S, dfe, TegHifag

B) A d, Tegrifom, dig e, sl

(C) dfeT, H=am g, b, 3T

(D) i d, HTe ZXUTd, TegHifam, St

ANS:- fod, ST, i,
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23: Match List-I with List-II and select the correct answer 23: -1 &I di-11 & JARra Sifrg a3 gfrai & - feg 1w

using the codes given below the lists- P DI AGTIAT A Tl I B gfIU-
List-I List-1I -1 GeiAll

(Country) (capital) @=m RTSTYT)

(A) Burundi 1. Astana (A) g&EST 1. SrETT

(B) Kazakhstan 2. Bamako (B) BOIRSKIT 2. AT

(C) Laos 3. Bujumbura (C) AT3N 3. §IHTRT

(D) Mali 4. Vientiane (D) AT 4. fafam™
Code: Fe:

(A)3A, 2B, 1C, 4D (A) 3A, 2B, 1C, 4D

(B) 4A, 1B, 2C, 3D (B) 4A, 1B, 2C, 3D

(C) 3A, 1B, 4C, 2D (C) 3A, 1B, 4C, 2D

(D) 1A, 3B, 4C, 2D (D) 1A, 3B, 4C, 2D
ANS:-3A,1B,4C, 2D ANS:- 3A, 1B, 4C, 2D

24: The strait connecting the Arctic Ocean and the Pacific 24: 3Tehfee HETHNR Ud WRIid HETATR &1 Sl are
Ocean is- STASHEHY 8-

(A) Bering (A) SR

(B) Torres (B) TRY

(C) Dover (C) BIR

(D) Malacca (D) HelahT

ANS:- Bering ANS:- af%T

25: Which of the following /, increases / increase nitrogen %5‘ frafeiee & & S1H-91/3, gaT 4 ATggivH ®1 9eTT g/aerd
)

in the soil?

1. Excretion of urea by animals 1. Sig3il ERT gRAT BT Il
2. Burning of coal by humans 2. TS GRT 1A B STeAT1
3. Death of vegetation 3. 999 B g
Select the correct answer using the codes given below- T f3T 1T He T T FR 9E SR gihe-
(A) only 1 (A) Had 1
(B) Only 2 and 3 (B) $ad 2 3R 3
fl\)lslj 2(;1111(131 d3 ©) 1,290
= Only 1 an ANS:- Fad 1 3R 3
26: Statement (A): Latitudes of 60 ° to 65 ° of both
Hemispheres have low pressure plate instead of high 26: BUF (A): S METsT b 60 FEH F 65 F&H areizn & 3=
pressure. 19 31 g 44 &9 ufe T g1t 7l
bRe:tson (R): Low pressure areas are permanent not on land %:‘R'UT (R): o g & ff TR e afep werarRI R wird g
ut on oceans. ;
. . |
zczlszt. the correct answer using the codes given below- 99 Ru e C ekl TGN $IP & IR BT U HHrT-
) . Pe:
(A) Both (A) and (R) are correct and (R) is the correct A) (A) - ®) IR ¥ iR (R). (A) BT T Tia=T 3
explanation of (A) AR (R) A TR T R o N
(B) Both (A) and (R) are correct and (R) is not the correct (B) (4) (R) (R), (A) T TR l
explanation of (A). (©) (4) FET B TR (R) T €
(C) (A) is correct but (R) is wrong. (D) (R) 7T § TR (A) TR €
(D) (R) is wrong but (A) is correct. ANS:- (A) 81 8 g (R) T &

ANS:- (A) is correct but (R) is wrong.
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27: Which of the following is correct in matching the
levels of the atmosphere and their characteristics?

1. Troposphere - Weather events

2. Stratosphere - Ozone layer

3. Ionosphere - Radio waves reflected towards the surface
of the Earth

4. Mesosphere - Aurora

Code-

(A)1,2,3and 4

(B)1,2and 4

(C)1,2and 3

(D) 2 and 3

ANS:-1,2and 3

28: The Kalahari Desert is found in which of the following
countries?

1. Botswana

2. Namibia

3. Zaire

4. Zambia

Choose the correct answer from the code given below-
Code:

(A) only 1

(B) only 2

(C)land2

(D)3 and 4

ANS:-1 and 2

29: Which one of the following continents has the highest
percentage of plain area in its entire area?

(A) Asia

(B) Europe

(C) North America

(D) South america

ANS:- Europe

30: Who was the first Sultan of Delhi who issued coins on
a regular basis and declared Delhi the capital of his
empire?

(A) Nasiruddin Mahmood

(B) Iltutmish

(C) Aaram shah

(D) Balban

ANS:- Iltutmish

31: Consider the following statements

1. Narasimha Saluva ended the Sangam dynasty and he
took the throne and started the Saluva dynasty.

2. Veer Singh took the throne away from the last suluva
3. Successor to Veer Narasimha was Krishnadeva Raya.
4. Krishna Dev Rai's successor was his step-brother
Achyutdev Rai.

Which of the above statements is correct?

(A)1,2and 3

(B)2,3and 4

(C)land 4

(D) 1,2,3and 4

ANS:-1,2,3 and 4

27: Fafafea # 9 19 A arguvesa & Wi td 39 e
F AT A T B2

1. NYAUSH - A et geamng

2. AHATIHUS - 3ATST U

3. TS - Jdt B g DI 3R WIafcrd el a7
4. HAHUSH - Yd Salfd

ﬁ'_

(A) 1,2,3 dUT 4

(B) 1,2 dUT 4

(C)1,27UT3

(D)2 313

ANS:-1,2 U3

28: Wmmmmﬁﬁm%ﬁﬁw
STaTe 2

4. STTfveran
fu T Fe @ T SR gfe-
T

(A) Had 1
(B) $ad 2
(C)1Td2
(D)3Td 4
ANS:-1Td 2

29: FrafafEa # @ frw oo werdiu  Sue vy aawa &
A Ut F1 ufa=rd gaifte 82

(A) TRmr

(B) U

(C) TR 3R

(D) Gfaroft smfkent

ANS:- QRIq

30: feeht &1 gan g &1 41 foram fFrafia Red ot fg
3R facell B 3= AUy $ e v fpa 2

(A) TRIEEF 7848

(B) Segdlael

(C) SIRTH RTe

(D) e

ANS:- eI

31: Frafafed sy wR R Fife-

1. R AT A W 921 67 3 forar iR IuA IwRigRE
BT AT 9 ARY fHar

2. R RRig 7 sifaw Arga &) T | IAR B IeRiERE ST
3. IR RRYE F IRadl ITF 3 FWIT 7T &

4. PG I P IURAA! ST 3HH-HTS ST IT A
SR FYN A A P IS8 2

(A)1,2 3R 3

(B)2,3 3R 4

(€)1 3R 4

(D)1,2,3 3R 4

ANS:-1,2,3 3l 4
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32: Which of the following is famous for Telugu
translations of Mahabharata?

1. Kamban

2. Kuttan

3. Nanny

4. Tikkan

Choose the correct answer from the codes given below-
(A)Only 1,2

(B) Only 2, 3

(C)Only 3,4

(D) Only 4, 1

ANS:- Only 3, 4

33: 'God only recognizes the qualities of man and his caste
does not ask; There will be no caste in the world to come.

Which devotional saint is saying this?
(A) Ramanand

(B) Dadu

(C) Nanak

(D) Ramanuja

ANS:- Nanak

34: Who among the following saints were Sufi -
1. Rahim

2. Nizamuddin Auliya

3. Muinuddin Chishti

4. Rasakhan

Select the correct answer from the codes given below-
(A)1and3

(B)1,2and 3

(C)2and 3

(D)2 and 4

ANS:-2 and 3

35: Arrange the following four external attacks in

chronological order and find the correct answer from the

code given below-

1. Ahmed Shah Abdali
2. Changez Khan

3. Nadir Shah

4. Taimur

Code:

ANS:-2,4,3,1

36: In the Sultanate period, Most of the rich and sultans

belonged to which class?
(A) Turk

(B) Mongol

(C) Tatar

(D) Arab

ANS:- Turk

%2: FrafafEa § @ o9 7erRd & Ag srgarel & fore faerma
1. ad

2.9

3,999

4. fegmq

i fou pe ¥ 9 ud IWw g
(A)PHad 1,2

(B) Had 2, 3

(C)Had 3,4

(D) Had 4, 1

ANS:- Hqd 3, 4

33: '"HATGTH $ad A & N HI Ugad 8 iR IAD! SIfd Tl
TBd ; 3 arelt girar & #1S wfa 78 gRf1 a8 fvw wfe @«
PIHYTR?

(A) S

(B) 4Tg

(C) TS

(D) AT

ANS:- &

34: FrafefEa wal 7 9 o7 gt &

1.8
2. FremgE= sitfern
3‘33"@?1%‘-&‘1

ﬁﬁqwﬁﬁ%"twaﬂmaﬁﬁa
(A) 1 3R 3

(B) 1,2 3R 3

(€)2 3R 3

(D)2 3R 4

ANS:-2 3R 3

35: BIANIHIAD HH H AT IR a5 g0l Pt qaRIT B
IR A Ry T Fis A TE W G-
1. 3G TG SfaTelt

36: eaTd BTd | Uiz ofk vd gea fra ot & 22
A)TH

(B) Hd

(C) dldRR

(D) 3Rd

ANS:- Gh
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37: The following people ruled India at different times.
With the help of the codes given below, select the correct
chronology of his reign-

1. Sher Shah

2. Akbar

3. Alauddin Khilji

4. Razia Sultan

Code:

ANS:-4,3,1,2

38: Under the Constitution, Do the states of the Indian
Union have the power to take foreign debt directly?

(A) Yes

(B) No

(C) Yes, but only from international organizations

(D) Yes, but with the permission of the Reserve Bank of India
only

ANS:- No

39: Which one of the following resolutions can the Council
of Ministers -pass in India?

(A) No confidence motion

(B) Censure Motion

(C) adjournment motion

(D) confidence Motion

ANS:- confidence Motion

40: In which section of the Protection of Human Rights
Act, 1993 is the definition of public servant given ?

(A) section 2

(B) section 3

(C) Section 2 (M)

(D) Section 2 (H)

ANS:- Section 2 (M)

41: Under which of the following provisions of the
constitution does the Indian Parliament have the right to
create a new state?

(A) Article 1

(B) Article 2

(C) Atrticle 3

(D) Article 4

ANS:- Article 3

42: 'No bill that imposes taxes cannot be placed in the
legislature without the recommendation of the President' -
This Article is under which Article of the Constitution of
India?

(A) Article 117

(B) Article 266

(C) Article 306

(D) Article 307

ANS:- Article 117

37: it @ 3 srerT-ore T I9g § YRd W) 9 fHani
I fu T Fis $ Heg |, S MMIARTA & el BIAHH BT
Igq BI-

1. IS

ANS:-4,3, 1,2

38: TRAUT & Sfafd, a1 YR ¥9 & 4 faeeht wor dfid o
P AR TEAE 2

(ATl

(B) T

(C) Bl, R ad SRS W15 4

(D) B, R FHad YR Rord o Bt 3rafa §

ANS:- T8I

39: frmferfad & @ ®199-971 ve U9 YRd # #lufiue @
Tqodi g 2

(A) SHTIYTH TRdTd

(B) 4= UdTd

(C) R U1d

(D) fayr vara

ANS:- fayr™T e

40: WG AfUPR TI&T fUfaH, 1993 Ft fFT yRTA AP
Ja FrURUI S TE R 2

(A) YRT 2

(B) URT 3

(C) YURT2 (TH)

(D) YRT 2 (Td)

ANS:- HRT 2 (TH)

41: ARy & Fgifead A 59 ueuE & siafa yrRda
TS P 74T IY I BT ARBPR E 2

(A) 3T=G 1

(B) 3J%5G 2

(C) TG 3

(D) TG 4

ANS:- 3J55¢ 3

42: gufa F ReT & R FE das 5t $ awmar 3
faurReT o 78 a1 &I gHar - U WaUE HIRd & |iAUTE &
fra srg®e & Siavfa smarg 2

(A) 3THE 117

(B) 3T=5G 266

(C) 35S 306

(D) 3T=G 307

ANS:- TG 117
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43: By which article of the Constitution a separate
Scheduled Tribes Commission has been formed?
(A) 337(a)

(B) 338

(C) 338 (a)

(D) 340

ANS:- 338 (a)

44: To be appointed a judge of the Supreme Court, how
many years must a person be an Advocate of the High
Court?

(A) 20

(B) 10

((OR

(D) 25

ANS:-10

45: Conducts election of State Legislative Assembly-
(A) Chief Justice of the High Court

(B) State election commission

(C) Election commission of india

(D) Governor of the state

ANS:- Election commission of india

46: Membership of a Member of Parliament / Legislative
Assembly is deemed to be terminated when it is absent
without notifying the House?

(A) 60 days

(B) 90 days

(C) 120 days

(D) 150 days

ANS:- 60 days

47: Under the Constitution of India, a money bill is
presented-

(A) In the Rajya Sabha

(B) In the Public Accounts Committee

(C) In the Lok Sabha

(D) Together in Lok Sabha and Rajya Sabha

ANS:- In the Lok Sabha

48: The Protection of Women from Domestic Violence Act
has come into force-

(A) On 20 September 2005

(B) On September 30, 2006

(C) On October 10, 2006

(D) On October 26, 2006

ANS:- On October 26, 2006

49: Under which article of the constitution, reservation
facility has been provided for other backward scheduled
castes and scheduled tribes in educational institutions,
including non-government and non-subsidized.

(A) Article 15 (4)

(B) Article 15 (5)

(C) Article 16 (4)

(D) Article 16 (5)

ANS:- Article 15 (5)

43; AU F f$H srTde F TR YYD SYfId SISl IR
P16 fparmar g 2

(A) 337 (P)

(B) 338

(C) 338 (P)

(D) 340

ANS:- 338 ()

44; qdt= <maTed & gt fgea g ¥ R afd &t s
q $U fpa ad 3= IrTead &1 8 TSalde g a1y ?

(A) 20
(B) 10
(©)8

(D) 25
ANS:- 10

45; I fauayT ¥ fFrafa &1 gare sar -
(A) S AT o G arnefi=n

46: THG/fAUT AU F [t How 3t Aewar a9 guTw wwsh
et 2, w19 9% fom e & g fpe srqufRa wgar @ 2
(A) 60 &

B) 90 fa=1

(©) 120 &=

(D) 150 f&=

ANS:- 60 f&

47: YRA F WAUH F Siavia T U= [das ot uga fvar siran
(A) TSI U1 H

(B) Ao orar wilfa &

(C) A IUTH

(D) T THT TYUT oG JUT H TP 1Y

ANS:- @ JUTH

48: O fEa § ufgensi &1 QRem siftifFow arpgan @-
(A) 20 RdsR 2005 BT

(B) 30 RdaR 2006 ®F

(C) 10 ISR, 2006 DT

(D) 26 ISR 2006 BT

ANS:- 26 3FEaR 2006 BT

49: AU ¥ fPH srgwde & siarfa Rreror Iwure &, ford k-
WP g R-3rger ura W wfdifera 2, oma Rest sggfa
STIfa a ST STl ¥ SIR&U 1 gRUT I F TE e 2
(A) 3THG 15 (4)

(B) 3TE 15 (5)

(C) TS 16 (4)

(D) 3T=5¢ 16 (5)

ANS:- 3¢ 15 (5)
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50: The constitution makers of India had adopted the 50: WRd ¥ Gfyur Fratareh ¥ gad Gl o afdfq guadf

concept of concurrent list mentioned in the seventh T Y srauRoT H T -

schedule- (A) FIET & WU &

(A) From the constitution of canada e |

(B) From the Constitution of Australia (2) Aﬂ > %ﬁﬂﬁ gﬂ il

(C) From the Constitution of Italy © = o7 3 TR &

(D) From the Constitution of South Africa (D) laft > '{.iﬁm 3

ANS:- From the Constitution of Australia ANS:- g feram U

51: Statement (A): The President of India is indirectly

elected. 51: PUYF(A): HRd T APUfa wiera: FaffRa siars |

Reason (R): The parliamentary system in India is linked =~ PRU(R): URd H A YuITel! 1 TUTdEATE & WY SiST T
with republicanism. | ‘ .
(A) Both (A) and (R) are true and (R) is a valid explanation of (A) Gl (A) SR (R)TAGAUT(R), (A ) BT TS AR WHIORU |

(A). (B)GFI (A)TUT(R)TIA R, TR (R) , (A ) BT T AT TBIHRT
(B) Both (A) and (R) are true, but (R) is not a valid explanation =gl g |

of (A). (€)(A)WEI 8, WY (R) TS |

(C) (A) is true, but (R) is false. (D) (A)TAdE, W (R) TR § |

ANS:- Both (A) and (R) are true and (R) is a valid THHITR |

explanation of (A).
52: Who was given the residual powers in the Union 52: 1935 % Sfftfraw gRT TTfYd o A sra=iy il feaet &

established by the Act of 1935? LEK
(A) To the federal legislature (A) T faeTaTicrenT o
(B) To the provincial legislature (B) Uit faurHed &1
(C) To the Governor General (C) AR SR B
(D) To Provincial Governors (D) Wi TgRI Bl
ANS:- To the Governor General ANS:- TR ST93d &1
53: Who among the following classes was largely 53: faffEE ot & B 1905 S Tae st ﬁg’@az
unaffected by the Swadeshi movement of 1905? ST TET?
1. Women 1. Higemg
2. Farmer 2. pUD
3. Muslims 3. QaHHE
4. Intellectuals 4. gfgshdt
(A)1and?2 (A)1Td2
(B)1,2and 3 (B)1,2T43
(C)2 and 3 (C)2®3
(D) 1 and 2 (D) lqa"z
ANS:-2 and 3 ANS:-2Tq 3
54: According to the proposal of the Indian National 54: SHAER P HRATT IAETT SR 3HTRIAT, 1919 F WA &
Congress of Amritsar, 1919, of which of the following was mmqﬂmmquﬁmmﬁ%g
chosen for Mahatma Gandhi to write a new constitution for ﬁ";‘lﬁ’l‘@ﬁ 73 ﬁ,ﬁ ITF W‘T %‘g’ 1T
1. B.G. Tilak L
- D ST 2. T4 HaaR
2. N.C. Kelkar 3. HoR. T
3. C.R.Das
I. I. B. Sen :n%\mé.? b I e
Select the correct answer from the code given below- §e e SWPrETT )
Code: ®:
(A)2and 4 (A)2Td4
(B) 1 and 2 (B)1Td2
(C) 3 and 4 (€©)3Td4
(D) 1 and 3 (D)1Ud3
ANS:-2 and 4 ANS:- 2 T4 4
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55: Below is a list of some cases. Finally, select the correct
sequence according to their dates using the codes given
below.

1. Lahore court case

2. Kakori court case

3. Meerut court case

4. Kanpur court case

Code:

(A)1,3,2and 4

(B)2,4,3and 1

(C)1,4,2and 3

(D)1,4,3 and 2

ANS:-1,4,2 and 3

56: Which of the following Governor General created the
Coventated Civil Service of India, which was later known
as the Indian Civil Service?

(A) Warren Hastings

(B) Wellesley

(C) Cornwallis

(D) William Bentinck

ANS:- Cornwallis

57: With reference to the Cabinet Mission, which of the
following statements is / are correct?

1. It recommended for a federal government.

2. It expanded the powers of the Indian courts.

3. It took ICS Provided for more Indians.

Select the correct answer using the codes given below.
(A) Only 1

(B)2and 3

(C)land3

(D) None of these

ANS:- Only 1

58: The Sadler Commission was related to which of the
following -

(A) Judiciary

(B) Revenue Administration

(C) Education

(D) Police Administration

ANS:- Education

59: Which of the following classes was first influenced by
western civilization?

(A) Elite Landlord

(B) New Wealthy Traders

(C) Educated Hindu Middle Class

(D) Educated Muslim

ANS:- Educated Hindu Middle Class

60: The official historian of the Indian independence
movement was-

(A) RC Majumdar

(B) Tara Chandra

(C) V.D. Savarkar

(D) S. N. Sen

ANS:- S. N. Sen

55: I PO heH! B Gt 41 75 51 3id F 3¢ T He &1 yarT
Fd §U 31 (AfY AR HH BT g4 DiTore-
1. FTER gHEHT

2. BTHRI GHGHT

3. W0 gPpeHn

4. PR

@_’:

(A)1,3,2 3R 4

(B)2,4,3 3R 1

(€)1,4,2 3R 3

(D) 1,4,3 3R 2

ANS:-1,4,2 3R 3

56: frafafed # 9 f59 1ok S Ra 3 YRd $t ARG Jar
(Coventated Civil Service of India) 37'“%, IGE] diq T YR fRifaa
Ja1 & AT A 1T

(A) AR e

%Z% Ffeae fomm & oo #, Fuferfaa #  F9-a1d sy 98
1. 391 U HHI IRPR F fore Rywifer o5t

2. 399 YR AraTaa) 1 Afeaal &1 fawar faan

3.394 s . W.ud. # 3 3rf¥re Wl & fore Suay fomami
Ha faw T Fe &1 vk #Y 9El SR gl

(A) Had 1

(B)2 3R 3

(©)13R3

(D) T A DS T

ANS:- Had 1

58: Tsar AN Fufafaa & 3 fad wefta ot
(A) TaIfereRt

(B) TR YR

() Rrem

(D) G U=

ANS:- fRrem

59: A A 9 frg ool &) aduyw ufzndt wvaar 3 wwnfaa fear
(A) HAH SHIGR

(B) 7dH ¥-a™ AR

(¢) fiféra fég gem af

(D) Frf&ra gaem™

ANs:- Riféra fég weaw ot

60: MR TTENET figier BT TRPRY SIATHPR UT-
(A) 3R Il AR

(B) dRTE%

(C) oY 1. HTaR&R

(D) TH.GA. 87

ANS:- TH.EH. A9
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61: Which English governor of East India Company was
expelled from India by Aurangzeb?

(A) Angier

(B) Sir John Child

(C) Sir John Gere

(D) Sir Nicholas Wet

ANS:- Sir John Child

62: Match List-I with List-II correctly and select the
correct answer using the codes given below the lists:
List- 1 List - II
(Molecule) (present metal)
A. Vitamin B-12 1. Magnesium

B. Hemoglobin 2. Cobalt
C. Chlorophyll 3. Copper
D. Chalcopyrite 4. Iron

Code:
(A)2A 4B 1C3D
(B)2A 1B 3C 4D
(C)4A 1B2C 3D
(D)3A4B2C 1D
ANS:-2A 4B 1C 3D

63: Which of the following is the best conductor of
electricity?

(A) Aluminum

(B) Copper

(C) silver

(D) Gold

ANS:- silver

64: Aluminum phosphide is used as ..................
(A) Pesticide

(B) Fungicide

(C) Rat destroyer

(D) fumigator

ANS:- Rat destroyer

65: Consider the following statements:
(1) Coal, petroleum and natural gas are fossil fuels.
(2) Gashall is a mixture of benzene and alcohol.

(3) Geothermal energy is an unconventional energy source.

(4) Dung gas mainly consists of methane.
In these statements-

(A) Only 1 and 2 are correct.

(B) Only 2 and 3 are correct.

(C) 1, 2 and 3 are correct.

(D) 1, 3 and 4 are correct.

ANS:- 1, 3 and 4 are correct.

66: Which metal is used to generate electricity?
(A) Uranium

(B) iron

(C) Copper

(D) Aluminum

ANS:- Uranium

61: 3% 33T HU F fFY S TR B ST GRT HRT A
e forar mam 2

(A) AR

(B) W 9l A13c8

(C) TR ST TR

(D) R Foiaude

ANS:- TR S a1368

62: g - 1Y T - 11 F T1y TE Jafera ifore ik et &

#1433 7Y Fe &1 wahT H3 ) SR g :
gt -1 gt -1
(37 (SURRYE €T
A fefF a2 1. AfREw
B . fevafas 2 . PlaTeT
C . FaRIfpa 3. 9iET (PIUR)
D . AehIURRTSE 4. I8 (3TRA)

W.

(A) 2A 4B 1C 3D
(B) 2A 1B 3C 4D
(C)4A 1B 2C 3D
(D) 3A 4B 2C 1D
ANS:- 2A 4B 1C 3D

63: FrafafEa ¥ 3 figga &1 9ed T aas FT AR 2
(A) Tegffram

(B) dlsll

() Tt

(D) FHT

ANS:- Fidt

64: I BIEBTSS BT WART fHUT AT B FEYHI
(A) PIcARIS

(B) PHARIG

(©) TETRIE

(D) YFF

ANS:- JETHIRIS

65: FFrafafad sy R faar Fifve

(1) DI, Uy 9yt wiepfas A sitarzy e 7
) TRAETa, I=Si1 qUT Tehigia BT AT g1

) Yarita Sl te suRmie SHuf w7

@) MR A9 & gera: fAT 0 21

g9 HYAI A-

(A) Pael 1 qUT2 TG T

(B) Pael 2 TUT3 WEI &1

(C) 1,2 TUT3 TE &I

(D) 1,3 TUT4 TSI G|

ANS:-1,3 TUT4 FET B

66: faggd Iud H & g Hi=-<f g HTIWTEATR 2
(A) T

(B) @ET

(C) faT

(D) TegHifH

ANS:- a9
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67: Cryogenic heat refers to the temperature ......
(A) Less than 150°C

(B) More than 150°C

(C) Less than -150°C

(D) -273°C

ANS:- Less than -150°C

68: Which of the following are semiconductors?
1. Silicon

2 .Quartz

3. Ceramics

4. Germanium

Choose the correct answer from the following options-
(A)land2

(B)1and3

(C)1land 4

(D)3 and 4

ANS:-1and 4

69: Mediums

I - Water,

II - Steel,

III - Nitrogen Keep the movement of sound in ascending
order.

(A) L II, I

B)IL LI

O L1, I

D) I, 1, 111

ANS:-IIL I, IT

70: During cold days, touch the iron block and wooden
block in the morning, then the iron block feels cold,
because-

(A) The iron block is lower in temperature than the wooden
block.

(B) Iron is a better conductor of heat than wood.

(C) Iron is a worse conductor of heat than wood.

(D) A piece of iron is heavier than wood.

ANS:- Iron is a better conductor of heat than wood.

71: When a piece of ice floating in a glass of water melts,
the water level -

(A) Will fall down

(B) Will rise

(C) Will remain the same

(D) Fall or rise will depend on the temperature of the water
ANS:- Will remain the same

67: PRNEE AU MRA ST AT IS ......... 2
(A) 150°C A HH

(B) 150°C ¥ 31f&

(C) -150°C ¥ HH

(D) -273°C

ANS:- -150°C § &H

68: | PH-A =TT 82
1. Raferera

2. P

3. Rrfrew

4 . S fgw

g faweul A | T IR 1 99 Pifere-
(A) 1TYT2

(B) 1943

(C) 13T 4

(D) 3 YT 4

ANS:- 19T 4

69: TTHHI-

19,

11-39T4,

I--TSEISH | eaf 3t a1d Y RIS 4 | Q@Y
(A) 1L I, 1

(B)IIL L, 1I

(C) L IIL, 1I

(D) IL, 1, TII

ANS:-IIL, I, TI

70: 38 & fel H, A & b 3R AP S! b [P P! UTa:HTd A
FU A AR P IeHT ST T 7, Fifb-

(A) AE & b HI d1I Th sl & [cdh ¥ HA BT g

(B) AHS! BI T & TNGT &1 BT ST AT ¢ |

(C) AHS! B o1 H AeT ST BT BRI 1D 5

(D) W18 BT gHSI The! § WL Il 81

ANS:- GBIt B T A TIGT ST BT 33T I 3 |

71: Tagad Frary & AT gon 9% &1 ghel 9 fraear g, ot
Tt T TR-

(A) = e

(B) S| IS

(C) FEI QM

(D) 2 RAT T SR &1 U & aruehd R R
ANS:- TEI I3
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72: Statement (A): The danger signal is made red.

Reason (R): Red color scattering is the lowest. 72: BYF (A) : TR BT RIAS T T BT TTAT ST R
zel:;ct the correct answer using the code given below: FRU (R) : AT T T Y0 T FH a1 21

ode: ST
(A) (A) and (R) are both correct and (R) is the correct gw FT A g e ®< @t « )
explanation of (A). " . .

. (A) (A) TUT (R) G 81 § T (R), (A) B! Tel AT 5|

Sir))l(a/?li ggﬁ E)I;)( Xr)e.z both correct but (R) is not the correct (B) (A) T (R) Eﬁ:ﬁ TR E T (), (A) BT e
(C) (A) is true, but (R) is false. (©) (A) FAB, qﬂ (R) T
(D) (A) is false, but (R) is true. (D) (A) TTeTd 8, TR (R) T81 &8

ANS:- (A) and (R) are both correct and (R) is the correct ~ ANS:-(A) YT (R) ST HE § T (R), (A) BT TE ATS &
explanation of (A).

73: Which of the following is a by-product of petroleum 73: ProddeAar a@m TR T ITATE R 2

refining?
(A) petrol () Tl
(B) IRPI
(B) Charcoal g
(C) Coal ©
(D) Asphalt (D) TFPTe
ANS:- Asphalt ANS:- G¥PpTeS
74: Who among the following had told before Newton that 74: frafeifea & & fw =ge=1 A qd & war faan ur f& Wit
all things are gravitated towards Earth? TEIY gt Bt MR Wﬁﬁ T g
(A) Aryabhata (A) 3TiYg
(B) Varahamihira (B) RIgMAfRR
(C) Buddhagupta (C) §xT T
(D) Brahmagupta (D) SR
ANS:- Brahmagupta ANS:- Sgi[«d
75: Match List-I with List-II and select the correct answer 75: J&1-1 ! -1 & HTY AT B 94T 761 SR 14 fqg ¢
from the code given below- P A TU Pifore-
List-1 List-11 LI A1
(Instrument / instrument) (measured amount) QU /GF) (AT DI IS AR)
(A) Ammeter 1. Pressure (A) THIER 1.59
(B) Hygrometer 2. weight (B) TgIIIeR 2. YR
(C) Spring Scale 3. current (c) FRT geir 3. 4RI
(D) Barometer 4. Relative humidity ) Rfex 4 . TOE ST
Code:
(A) 24, 3B, 4C, 1D ?‘;CZ' A, 3B, 4C, 1D
(B) 3A, 4B, 2C, 1D (B) 3A, 4B, 2C, 1D
(C)4A, 1B, 2C, 3D (C) 4A, 1B, 2C, 3D
(D) 1A, 2B, 3C, 4D (D) 1A, 2B, 3C, 4D
ANS:- 3A,4B, 2C, 1D ANS:- 3A, 4B, 2C, 1D
76: Which of the following is a unit measuring the 76: frgifea # A S TP argHisd & Sl WRd P Hierg A
thickness of the ozone layer in the atmosphere? qAgPE B 2
(A) Naut (A) e
(B) Dobson (B) 81T
(C) Paws (C) @l
(D) Maxwell (D) AR
ANS:- Dobson ANS:- ETe8
77: Whose oath was administered to the students of 77: Rifea e & Ryl @) fraet Ty Rard e
medical science? (A) Rulbeq
(A) Hippocrates (B) 3T F1 )
(B) Aristotle
' (C) SIfET &
(C) Darwin R
(D) Theophrastus (D)
ANS:- Hippocrates ANS:- %m at
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78: From which part of the plant is turmeric obtained?
(A) Root

(B) Fruit

(C) Flower

(D) Stem

ANS:- Stem

79: In which of the following crops, indigo green algae are

mainly used as bio fertilizer?
(A) Wheat

(B) gram

(C) rice

(D) Mustard

ANS:- rice

80: Which of the following species has the largest number

of toothed whales?
(A) Finback whale
(B) Blue whale

(C) Sperm whale

(D) Humpback whale
ANS:- Sperm whale

81: The roots of desert plants are long, because-

(A) The high temperature of the soil encourages the roots to
grow taller.

(B) The roots become elongated in search of water.

(C) There is no water in the land, so it hardens and puts
pressure on the roots, which makes it long.

(D) Roots grow in the opposite direction to the heat of the sun.

ANS:- The roots become elongated in search of water.

82: The liver produces which of the following?
(A) Lipase

(B) Urea

(C) Mucus

(D) Hydrochloric acid

ANS:- Urea

83: Which of the following salts is found in maximum
amount in human bones?

(A) magnesium chloride

(B) Calcium carbonate

(C) Calcium phosphate

(D) Sodium chloride

ANS:- Calcium phosphate

84: Assertion (A): Some bacteria can synthesize their
food.

Reason (R): In these bacteria, green substance called green

lantern is found.

(A) (A) and (R) are both correct, and (R) is the correct
explanation of (A).

(B) (A) and (R) are both correct, and (R) is not the correct
explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

ANS:- (A) is true, but (R) is false.

78: MY P PIH-T AT A Tl AT Bl @ 2
(A) SIS

(B) ®d

©)q™

(D) a1

ANS:-dHT

79: Fafafee frw waa # <fia et Aaa gea: Ja ke F

FUATERTER & 2
(A) T

(B) T

(C)

(D) Il

ANS:- 9

80: o wonfoat & | H4-30 gid areh [ & fa=maaw @ 2

81: HORUTHY Uielf P oIS vl gl &, Fifop-

(A) YfH BT S dTOHH STS| Bl vl 84 8 Mg d aT g |
(B) ST U & qerrer & oveil 81 ol @ |

(C) HfA U TET BT, 31: U T BlebR S| IR aad STer €,
T 7 Tt 81 S €

(D) 5S g I if & farfia e A s g |

ANS:- SIS Ut & Fer=r # ot Y STt 8 |

82: frafafea ¥ A 59 v ot safy, agpawTari g 2
(A) TTSU

(B) i

(C) AT

(D) BISSIGARD 3

ANS:-

83: frafafEa ¥ @ F19-1 a9 aFq efyal o waifte aer o

T ST 8 2

(A) TR FARES
(B) BRI HTaHT
(C) PITaH BIdhe
(D) QifsTH FTIRZS
ANS:- HfRaH Biabe

84: BYF (A ) : TS QT AT YIS JRANT PR TPA S |

PRI (R ) : 39 Shtaruei & g1 yerd &t gacas searar g uran

ST e |

(A) (A) SR (R)TAITRIE, SR (R), (A ) FTHG WEIRUI T |

(B) (A) 3R (R) T TR G, 3R (R), (A ) BT ! TTIH0T 51 §

|

©) (A) TS, R (R)TAAE |
(D) (A) @A 8, TR (R) TS |
ANS:- (A ) I8, W (R) TEd & |
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85: 'Rolling Plan' for backward countries was suggested
by

(A) By G. Mirdle

(B) By W.A.Lewis

(C) By R. Nakrse

(D) By A. Samuelsson

ANS:- By G. Mirdle

86: Those registered exporters, whose export performance
has been high for many years, are known as-

(A) As export house

(B) As business house

(C) As Star Business Home

(D) None of the above

ANS:- As Star Business Home

87: Which of the following schemes is not for 'rural
development'?

(A) TR.Y.S.EM.

(B)CRY.

(©)JRY.

(D) LR.D.P.

ANS:- C.R.Y.

88: On the basis of Report on Periodic Labour Force
Survey (2017-18) released by Ministry of Statistics and
Programme Implementation which state has highest
unemployment rate ?

(A) Nagaland

(B) Tripura

(C) Manipur

(D) Meghalaya

ANS:- Tripura

89: Is the service sector in India included?

I. Forestry I1. Transport and
Communication

I11. Hotel

(A) Onlyiandll

(B) II and IIT only

(C) Il and IV only

(D) I and IV only
ANS:- II and III only

IV. Forestry and Fisheries

90: Consider the following taxes:
1. Company Tax

2. Custom duty

3. Property Tax

4. Excise duty

Which of the following is / are indirect taxes?
(A) only 1

(B)2and 4

(C)land3

(D)2 and 3

ANS:-2 and 4

85: fUos 3= & fore AR @ &1 J3na feud gr fear mn
T2

(A) oft. rSa grRT

(B) =G U. a9 gRT

(C) 3R, THT gRI

(D) U. T3ITIA.GRT

ANS:- off. frda gr1

86: q Ushigpd fata®, e sAw auf a@ frafa Aeares
) Fad s wud

(B) TR T8 & &Y H

(C) 'R AR T8 & &g I

(D) STe & A HIE ¥

ANS:- ¥R AR [E & FU H{

87: Frafifaa # @S-8 @w wnfio e R a2
(A) TR.Y.S.EM.

(B) CR.Y.

(C)JRY.

(D) LR.D.P.

ANS:- C.R.Y.

88: JifT®! 3R HrIPHH HHATaUT HATAY GRT IAR! AP
4 T AT (2017-18) B RUIE & MR W, frg =g A 3=
R R 3?2

(A) TS

B) g

(C) [T

(D) HETeg

ANS:- BrgRT

89: YRd H Jar AT A Gffera g 2

1. aTfret 11 . IRae iR IaR
111 §ied v. 9t 9 Afgest
(A) A1 3R Il

(B) Had 11 3R 111

(C) P 11 3R IV

(D) HaA 1 3R 1V

ANS:- e 11 3R 111

90: mﬁ“ﬁﬁﬂmﬁ
1. BUH B

2. o e

3. GuRT &%

4. IUTE Yo

70 | PIH-ITS AT PG ?
(A) Had 1

(B)2 3R 4

(€)1 3R 3

(D)2 3R 3

ANS:-2 3T 4
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91: Who was the first chairman of the Disinvestment
Commission in India?

(A) G. V. Ramakrishna

(B) C. Rangarajan

(C) Arun Jaitley

(D) Montek Singh Ahluwalia

ANS:- G. V. Ramakrishna

92: Study the following statements related to the Reserve
Bank of India and select the correct answer from the codes
given below.

L. It is the apex bank.

I1. It regulates the money supply.

I11. It provides loans to business houses.

IV. It supervises the works of NABARD.

Code:

(A)Iand II

(B) Il and IV

(C) L, I and 11

(D)L, Il and IV

ANS:- L, II and IV

93: Which one of the following is not an objective of
financial inclusion?

(A) To extend financial services to the poor population.

(B) Opening the door to possible growth of weaker sections.
(C) Shrinking banking infrastructure.

(D) Dissemination of financial services in rural areas.
ANS:- Shrinking banking infrastructure.

94: Match List-1 (Country) with List-2 (Currency) and
select the correct answer using the codes given below the

lists-

List-I List-II

1. Mexico A. Yen

2 . Austria B. Peso

3. Japan C.Riyal

4. Saudi Arabia D. Shilling
Code:

(A) 1A, 2B, 3C, 4D
(B) 1B, 2D, 3A, 4C
(C) 1B, 2C, 3D, 4A
(D) 1B, 2C, 3A, 4D
ANS:- 1B, 2D, 3A, 4C

95: Uttar Pradesh Industrial Development Corporation is
established-

(A) In kanpur

(B) in Lucknow

(C) In Agra

(D) In Noida

ANS:- In kanpur

96: Which of the following is not a traditional industry of
the state?

(A) sugar

(B) Fertilizer

(C) Cement

(D) cotton clothes

ANS:- Fertilizer

91: YRAH A= SMART BT WUw 3redes S AT 2
(A) Sit. I AP

(B) . YRSH

(C) 3301 Sicat

(D) Hide g srgeqartern

ANS:- S, dt Iraeer

92: YR ord 9% @ wefta Frafefaa syt &1 sreaa
PIFTE a4 1 fAT 71T Fe | et ST &1 994 B 1
Lag M dw g |

1L.9% g1 3Myfel o1 Frafta sxar g |

[1L.YE YIRS W] B BT U BT ¢ |

IV.UE AT & T4l BT THdeor HIa1 @ |

PC:

(A)1TUTII

(B) AU IV

(C) L, 11 T4 11

(D)L T IV

ANS:- L 1 TG IV

93: FFufafad # @ $19.91 ve faxfity THRRA F13Ea A8 2
(A) TS 3f1aTe & forg foxita Jarsff &1 favdR &% |

(B) BHSIR aff 1 THIFAd Tl & gR Jla |

(C) ST ST B Ryepie |

(D) TrHToT & # foxita Jarsfl 1 IR |

ANS:- ST e Ta=T P fyeprsr |

94: A1 @M B GR-2 (e A GAfera H i gl &

12 3 7T Fe &1 wahT $vb T IR gRE-
gt gEkn

LAffe AT

2. AfRear B.OT

3. U c. am
4.9&4 34 p. ffe

PC:

(A) 1A, 2B, 3C, 4D
(B) 1B, 2D, 3A, 4C
(C) 1B, 2C, 3D, 4A
(D) 1B, 2C, 3A, 4D
ANS:- 1B, 2D, 3A, 4C

95: IvR USH Nenfire fae fnmw wutfua @8-
(A) PR A

(B) TGS |

(C) 3MRTH

(D) AITST H

ANS:- HHEQR

96: AU H | P U BT URWNRS IURTAE & 2
(A) =T

(B) SRF

() dm=

(D) Tl o

ANS:-
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97: Who is not well matched in the following players and
their game?

(A) K.D. Singh - Hockey

(B) Syed Modi - Cricket

(C) Abhinav Shyam Gupta - Badminton

(D) NarSingh Yadav - wrestling

ANS:- Syed Modi - Cricket

98: 'Vishwa Bharati Award' is given in Uttar Pradesh, by-
(A) Hindi Institute

(B) Hindustan Academy

(C) Sanskrit Institute

(D) Urdu Academy

ANS:- Sanskrit Institute

99: 'Mid-day meal' program was started in the state-
(A) In 1985

(B) in 1990

(C)in 1997

(D) In 1995

ANS:- In 1995

100: When was the 'Kisan Mitra Yojana' launched in
Uttar Pradesh?

(A) Since 18 June 2004

(B) Since 18 June 2003

(C) Since 18 June 2002

(D) Since 18 June 2001

ANS:- Since 18 June 2001

101: Red soil is found?
(A) Agra-Mathura

(B) In Eta-mainpuri

(C) Sitapur-Barabanki
(D) Mirzapur-Jhansi
ANS:- Mirzapur-Jhansi

102: The colorful fair held in Meerut every year after Holi
is-

(A) Kumbh Fair

(B) Nauchandi Fair

(C) Ganga fair

(D) Sikri Fair

ANS:- Nauchandi Fair

103: The Dr. Ambedkar Institute of Technology for
Handicapped is located at

(A) In Agra

(B) In Allahabad

(C) In Kanpur

(D) in Lucknow

ANS:- In Kanpur

97: o et a 39 Qa ¥ o1 gafea T8 g 2
(A) F.31. g - gt

(B) T&E A - frde

(C) 3T T T - SSfifed

(D) TR T1Gd - Pt

ANS:- 8¢ Hid} - fhdbe

98: IR UK N Ay URe PR We foban wiran 8, gRI-
(A) fe=dl g

(B) fogwar wrsH!

(C) TP d T

(D) I ThSH

ANS:- Tpd TR

99: WoRT # frs-3-tiier wrferw vy fvar -
(A) 1985 &

(B) 1990 H

(C) 1997 H

(D) 1995 H

ANS:- 1995

100: IR WS H THa i dior Fa =PI 15 2
(A) 18 [, 2004 1

(B) 18 [, 2003 ¥

(C) 18 [, 2002 &

(D) 18 5, 2001 ¥

ANS:- 18 T, 2001 &

101: Tt Y urft ot 8 2

(A) STRI-AYRT

(B) TeT-HG H

(C) HATR-aRE D &

() ForiigR izt &

ANS:- fafgR-gnisit &

102: A3 A YA a9 giell & a1 mafora fvar s arer -
frmaare-

(A) Y AT

(B) At A

(C) TRT Al

(D) Tt e

ANS:- Ed) Aar

103: B0 FATHR S Iege 3T T IdTol BIR FUSIPbts
JafRyd g-

(A) AFRTH

(B) 3qTETSTE H

(C) PR H

(D) TGS |

ANS:- HHEQR
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104: According to 2011, which religious community ranks
third in Uttar Pradesh in the population-

(A) Buddhist

(B) Christian

(C) Jain

(D) Sikh

ANS:- Sikh

105: List. and . Match and choose the answer.
(Temple) (district)

(A) Devgarh Dashavatar Temple 1. Etah
(B) Baba Somnath Temple 2.
Farrukhabad

(C) Temple of Shringi Rishi 3. Deoria
(D) Varaha God's Temple 4. Lalitpur

Code-

(A) A1 B2C3 D4
(B) A4 B3 C2 Dl
(C)A3B4C1D2
(D) A3 B4 C2 D1
ANS:- A4 B3 C2 D1

106: Till now how many women have been Chief
Ministers in Uttar Pradesh

(A)4

(B)1

©)2

D)3

ANS:- 2

107: According to 2011, according to the decreasing order
of population, settle the districts and choose the right code -
(1) Allahabad (2) Ghaziabad

(3) Moradabad (4) Lucknow

Code:
A)1,3,2,
(B) 1,4, 3,
(©)2,3,1,
D)4,1,2,3
ANS:-1,3,2,4

108: Match List-I with II and select the correct code.

4
2
4

List-I List-I1
A. Birha 1. Bhojpuri
B. Kajri 2. Awadhi
C. Malhar 3. Briji

D. Rasiya 4. Kauravi

(A) A2 B1 C4 D3
(B) A4 B2 C3 D1
(C) A3 B1 C2 D4
(D) Al B2 C4 D3
ANS:- A1 B2 C4 D3

104: 2011 & AR STE A fooa aififes Tqem s19.w. o
R R

(A) TG

(B) 3913

(©) S

() Rrg

ANs:- @

105: gt 19 1| gAfea Hiferg sk SR -
@)

_ (VU Q)
(A) ST SRR AR
(B) ST QIHATY HieR
©) gt B FTHRR
(D) TRTE MG &1 HfeR
Pe-
(A) A1 B2 C3 D4
(B) A4 B3 C2 D1
(C) A3 B4 C1 D2
(D) A3 B4 C2 DI
ANS:- A4 B3 C2 D1

1. el
2. BHEIETG
3. qafean

4. AferagR

106: 39 T 3. U.8 fpa afeemt ger -

(A4

B)1

©2

D)3

ANS:-2

107: 2011 & AR THSAT & ged wH H foral &1 afyd &
T T -

(1) SATETETG (2) MiSTATETG

(3) YrTerdTg 4 9993
@;":

(A)1,3,2,4

(B)1,4,3,2

©)2,3,1,4

D)4,1,2,3

ANS:-1,3,2, 4

108: -1 BT AT 11 & Q1Y Y 3R Tl BIs BT I B

a1 -1
A. fargr 1. WISqS
B. Hoidl 2. 3ash
CH®R 3. STelt

p. IR 4. ®RA

(A) A2 B1 C4 D3
(B) A4 B2 C3 DI
(C) A3 B1 C2 D4
(D) Al B2 C4 D3
ANS:- A1 B2 C4 D3
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109: Which of the following is not a folk dance of
Bundelkhand?

(A) Khayal dance

(B) Pie danda dance

(C) Kathakali dance

(D) Rye dance

ANS:- Kathakali dance

110: What is measured with a chymograph?
(A) Solar radiation

(B) Wind direction

(C) Body actions

(D) Humidity

ANS:- Body actions

111: Which of the following is / are correct?

1. The decadal growth rate of Hindus was 16.8% during
"2001-2011".

2. The decadal growth rate of Muslims was 24.6% during
"2001-2011".

(A) only 1

(B) only 2

(C) Both 1 and 2

(D) None of these

ANS:- Both 1 and 2

112: Currently India's population growth is going through
which of the following periods?

(A) Fixed population

(B) Sustainable growth

(C) High growth

(D) High growth rate with a declining trend

ANS:- High growth rate with a declining trend

113: Arrange the poems of Late Harivansh Rai Bachchan
in their chronological order and select the correct answer
from the code given below-

1. Madhukalash

2. Madhubala

3. Madhusala

Code:

A)1,2,3

B)2,3,1

©)3,2,1

D)2,1,3

ANS:-3,2,1

114: 'Chapchar Kut' festival is celebrated-
(A) In Arunachal Pradesh

(B) In Assam

(C) In Mizoram

(D) In Sikkim

ANS:- In Mizoram

109: 0 ¥ B9 g aavs T ABTa A8 8 2
(A) 1 T

(B) UISSUST T

(C) BYDTI T

OREER

ANS:- BYHA T

110: PISHATE T T HIYT ST @ 2
(A) FIeR IfSTIA

m: Fafifadaadar.

1. 2001-2011" & SR fRg3 & TuHTT 3fF X 16.8 % WY |
2."2001-2011" & IR GHAHTH B! BT G o 24.6 % T |
(A) Had 1

(B) Had 2

(€)1 3R 2 G

(D) FTH Y DTS a1

ANS:- 1 3% 2 ST

;g:%aﬁwmﬁmaﬁmq@ﬁaﬁﬁﬁma?ﬁw
(A) RR SFie

(B) §d 3f<

(C) g 3= fawr

(D) IR &1 gt & 1 3= gfg &)

ANS:- fRA S ygRiF Iy ST Ifx R

113: il gfiazRmg T &) Siaarsi @) 39 FrapurgaR
AR FIRTE 941 12 RE g€ Fe A 9 W &1 984 S
1. YD

2. YT

.9

@_’:

(A)1,2,3

(B)2,3,1

©)3,2,1

D)2,1,3

ANS:-3,2,1

114: "IYAR $e' TER HTT STdT §-
(A) SRV TR |

(B) A H

©) fieiRa H

() Rifepa &

ANS:- oA ®
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115: Consider the following statements-

1. The percentage of rural population in Uttar Pradesh is
77.70 percent.

2. 18.63 percent of the country's total rural population lives
in Uttar Pradesh.

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct

(D) None of above is correct

ANS:- Both 1 and 2 are correct

116: The mascot of the 2022 National Games will be-
(A) State animal of Arunachal Pradesh

(B) State animal of Meghalaya

(C) State animal of sikkim

(D) State animal of Assam

ANS:- State animal of Meghalaya

117: According to the Clean Survey Report, 2019, which
city of Uttar Pradesh ranked first in the state in the
national ranking?

(A) Prayagraj

(B) Noida

(C) Bareilly

(D) Ghaziabad

ANS:- Ghaziabad

118: Which country has India signed to purchase the
improved version of Spice-2000 bombs?

(A) France

(B) Japan

(C) Russia

(D) Israel

ANS:- Israel

119: Consider the following statements-

1. Jharkhand is the top state in terms of accumulated coal
reserves in India.

2. The top coal producing state in India is Orissa.

(A) Only 1 is correct.

(B) Only 2 is correct.

(C) Both 1 and 2 are correct

(D) None of the above is correct.

ANS:- Both 1 and 2 are correct

120: Gogabil Lake is located-
(A) Jharkhand

(B) Bihar

(C) Chhattisgarh

(D) Tripura

ANS:- Bihar

115: FFufafaa sy w faar Fifve-

1. IR U § Yo SE@I o1 ufeRrd 77.70 UK g |

2. 321 Y e ITHIOT ST BT 18.63 UfRIA IR W B Ay
HIATE |

(A) Pad 1 TET

(B) Pad 2 W& ®

() 1923 9E1 &

(D) PIS H FEI T 3

ANS:- 192 3 Tgt &

116: TY 2022 F IIFTT Gl PTYHPR GRTI-
(A) 3O USR HT IASTHIT U

(B) TEUTeRT &7 el 19 G

(C) Rifdr T &1 AT Uy

(D) 3T BT ISID g U

ANS:- BT BT IS U

117: T3 waeor RUIE, 2019 & TR AP I & SR wew
BT DI AT e, U H TYH RITH TR 8T ?

(A) TOFRTS

(B) TS

(C) SRelt

(D) TToTaTaTg

ANS:- TforaTErg

118: TTFH-2000 TH F IAd TPV B1 @I 8d YRA 1 {5
T I gHehar fear g 2

(A) P

(B) ST

(ORSN)

(D) RHI=R

ANS:- g9HIsd

119: 9 FY=1 R faar Fifere-

1. HRA A HIUd & wfaa vesR e A Mf s srEs 7 |
2. YRd ¥ Hgd $1 0 Iaurgs Isu SR 7 |

(A) DI 1 TSR |

(B) P 2 TR § |

©) 1 3R 2T &2

(D) B N I TR

ANS:- 1 3R 2 S TET &

120: et she T 8-
(A) IRES

(B) fSBR

(C) BEIRATG

(D) QT

ANS:- fagR
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121: Consider the following statements

1. Chang E-4 Lunar Probe is related to China.

2. In Chinese folk literature, Chang-e is known as the moon
goddess.

Which of the above is / are correct?

(A) Only 1 is correct.

(B) Only 2 is correct.

(C) Both 1 and 2 are correct

(D) None of the above is correct.

ANS:- Both 1 and 2 are correct

122: Consider the following statements
1. On 17 October 2019, NITI Aayog has released 'India
Innovation Index 2019'.
2. 'India Innovation Index 2019', 28 states and 9 union
territories of India have been included.
The correct one is
(A) Only 1 is correct.
(B) Only 2 is correct.
(C) Both 1 and 2 are correct
(D) None of the above is correct.
ANS:- Only 1 is correct.

123: The 124th Constitution Amendment Bill is
concerned:

(A) Reservation for poor upper castes

(B) Jobs for Unemployed

(C) Improve sex ratio

(D) Safety of women at work

ANS:- Reservation for poor upper castes

124: Where was the 15-day National Tribal Festival 'Adi
Mahotsav' organized from 16 to 30 November 2019?

(A) New Delhi

(B) Jaipur

(C) Manipur

(D) Shivpur

ANS:- New Delhi

125: According to the Supreme Court Amendment Act
2019, the number of judges in the Supreme Court is -
(A)25

(B) 31

(€) 34

(D) 36

ANS:- 34

126: India's position in the Global Hunger Index 2019, is -
(A) 101st

(B) 102nd

(C) 112th

(D) 113th

ANS:-102nd

121: Fafafed sy w R Fife-
LAMEATRNTHTIGY TR G|

2. TS AP At A i Fagm SN S TUATATAET S |
Sued # A HH-T1A TE 878 2

(A) Pacl | TEIR |

(B) Pacl 2 TEI R |

© 13R2A TR

OERISHEE

ANS:- 1 3 2 S 9ET @

122: 9 FYAf ©R AR #ifse-
1. 17 3EER, 2019 1 Hfa mahT A SfEar sNaw= 39 2019
o AT ? |
2. SFETT SHRARA SR 20197 HIRA & 28 I%T MR 9 Hg WA
"= P S frar T g |
AL R -
(A)Had 1 81§ |
(B) P2 TR © |
©)13R 23T
(D) P15+ 1 7ol 8
ANS:-$ad 1 91 2 |

123: 1243 Ifay= Iy A9us o1 9= 8-
(A) TRIS TaUT BT S{REJTT

(B) SRISATRI &1 RSHIR

(C) FTTuTd oI g

(D) F R W Afgarsit &1 gran

ANS:- TRI9 HaUff &1 STRE0T

124: 16 ¥ 30 TAWR 2019 & 7eA 15 faefia wgia w=edia I@a
*TFG TS T TSI H1 P aT TT 2

(A) S feelt

(B) SR

125: AW AT WY RIFET 2019 F AR, Wal=
rared ® =grardi=n € Sen g -

(A) 25

(B) 31

(C) 34

(D) 36

ANS:- 34

126: AP YU GaBi® 2019, ¥ URA BT R -
(A) 10197

(B) 102aT

(C) 112ai

(D) 113df

ANS:- 10291
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127: Consider the following statements-

1. World Food Day is observed every year on 16 October
2. According to a report, about 23 percent of the world's
hungry people live in India.

Which of the statements given above is / are correct?

(A) only 1

(B) only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

ANS:- Both 1 and 2

128: Consider the following statements -

1. Uttar Pradesh Chief Minister Yogi Adityanath launched
'Kanya Sumangala Yojana' for all districts on 25 October
2019.

2. Under this scheme financial assistance will be given from
the birth of a daughter to her education and higher
education.

Which of the statements given above is / are correct?
(A)only 1

(B) only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

ANS:- Both 1 and 2

129: Consider the following statements -

1. Voyager 2 is the second spacecraft in history to reach
beyond the Sun's boundary.

2. It is developed by ISRO.

Which of the above statements is / are correct?

(A) only 1

(B) only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

ANS:- only 1

130: National Education Day is celebrated on November
11, whose birth anniversary is it?

(A) A PJ Abdul Kalam

(B) M Abul kalam azad

(C) DK Karve

(D) Atal Bihari Vajpayee

ANS:- M Abul kalam azad

131: The government of which state of India has decided
to set up the Department of Spirituality?

(A) Uttar Pradesh

(B) Kerala

(C) Madhya Pradesh

(D) Uttarakhand

ANS:- Madhya Pradesh

127: Fafafed sy w® faar &3¢

1. Ty @y foaw &% 91 16 SragaR & WA STaT 8

%$W$W,m$mwzsm@mmﬁ
|

TR REMUHYTH AT FT AT 8/ 82

(A) Had 1

(B) $hdd 2

(C) 13 23H!

D)Adr 1782

ANS:- 192 g1

128: Frafafed sy R AR #3-

1. IR YR & EIHA IRt Sfeea=ry = 25 ragar 2019 &1 G
el & g =T gETeT ToHr 3 Y1 B

2. 39 AISAT & Sald 91 F A1 8 A AP 9! UgE, 3
Rrenm a@ anfe Heg & saRf |

SRIT FYN A A FT AT IR/ 2

(A) Had 1

(B) Had 2

(C)1d2 3!

D)Fdar 1782

ANS:- 192 @Y

129: fFufafed sy «R faR #3-

1. ATTOR-2 (Voyager 2) G4 &1 AT & UR Uga= arer 3fas™ &1
o sifoRer A 81

2. 3P AP SR A fFaT g |

SR FYN A A BT AT T8/ 2

(A) PHad |

(B) Had 2

(C) 13 23H!

D)TA 1782

ANS:- Hqd 1

130: 11 TR 1 AEHA R feaw wrar v 8, ae fraat
ST gt 8 2

(A) TH S fegdd Had

(B) HI. 3Id HETH 3MTSTTE

©) S FHd

(D) 3fea fagr arordt

ANS:- TY. 3gd HEATT 3T

131: YRd & f5d U & WReR 7 e AU 7fdd #31 &1
fofa R 2

(A) SR UK

(B) A

(C) U U

(D) TGS

ANS:- U0 U2
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132: Indian cricketers included in Digital India Cricketer
of the Year 2019-20 are-
1. Jaspreet Bumrah

2. Smriti Mandhana

3. Virat Kohli

4. Mithali Raj

(A) 1 and 2 only

(B) only 2

(C) 1 and 3 only

(D) All of the above
ANS:- 1 and 2 only

133: Consider the following statements-

1. RMSAT-2 is a technology demonstrator mission.
2. This satellite is named in honor of CV Raman.
Which of the statements given above is / are correct?
(A)only 1

(B) only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

ANS:- Both 1 and 2

134: According to the National Crime Records Bureau
2017, the highest number of corruption cases have been
reported.

(A) Maharashtra

(B) Tripura

(C) Goa

(D) Punjab

ANS:- Maharashtra

135: Consider the following statements
1. In the budget 2019-20, it has been decided to start the
Pradhan Mantri Karma Yogi Maandhan Yojana.
2. One crore retail traders and small shopkeepers will be
benefited under this scheme.
Which of the statements given above is / are correct?
(A) Only 1 is correct.
(B) Only 2 is correct.
(C) Both 1 and 2 are correct
(D) None of the above is correct.
ANS:- Only 1 is correct.

136: The first Central Police University of the country is
being established-

(A) Lucknow

(B) Greater Noida

(C) Ahmedabad

(D) Amravati

ANS:- Greater Noida

137: Where was the 45th G-7 Summit, 2019 held?
(A) Biritz, France

(B) Berlin, Germany

(C) Vienna, Austria

(D) The Hague, Netherlands

ANS:- Biritz, France

132: feforea sfEar frder it g $aR 2019-20 # = YR
frpe §-

1. ST §HRTE

2. Jfa Ay

3. favTe g

4. forarelt 3

(A)Paa 192

(B) $ad 2

(C)Had 193

(D) SRt Jeit

ANS:- $ad 192

133: Fafafed sy w R #-

1.3 8e-2 TP Menfret wexies e 8 |

2. SAIUE P AH A F A F ITHHA AT TR |
SR FYN A PTATIEN /8 ?

(A) Had 1

(B) I 2

(C) 13 23M!

D) Adr 1782

ANS:- 192 g1

134: PTT SRTY RBTS SRY 2017 F TR, YPHER F waifirew
AMA TS gU R |

(A) HBRTY

®) g

(C) T

(D) UGl

ANS:- HERTY

135: fFufafad sy wR faar Fifvr-

1. o€ 2019-20 ¥ TR H4 T AL QST B URY B
1 fAofa ferarmar g |

2. 39 YIS & d8d U BRI Gadl AMIRI Td BIC gPER
ATy 8 |

SRIF YN A P T TN R /E 2

(A)Had 1 TEI17 |

(B) P 2 TR B |

©) 1R 2 &2

(D) B3 i T TS R

ANS:-$ad 1 91 2 |

136: I F UgA Heig g fay faemera &t wim=n @1 51 381 8-
(A) TS

(B) U AITET

(C) 3fgHaldlq

(D) SERTG!

ANS:- e 1St

137: 45 af oit-7 FRRER TWT, 2019 BT SATAISI, HET [pAT T ?
(A) fasniet, wig

(B) Sfef, St

(C) o, sifean

(D) ?7, xS

ANS:- fyenfyet, wig
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138: The largest user of ground water in the world is-
(A) China

(B) India

(C) America

(D) Rosh

ANS:- India

139: Which events have completed 100 years in the year
2019?

(A) Rowlatt Satyagraha and Jallianwala Bagh Massacre

(B) Non-Cooperation Movement and Quit India Movement
(C) Death of Rajendra Prasad and Sardar Patel

(D) Bhagat Singh and Sukhdev hanged

ANS:- Rowlatt Satyagraha and Jallianwala Bagh Massacre

140: Recently the former President of France has died on
September 26, 2019, whose name was?

(A) Napoleon Bonaparte

(B) Zak Shirak

(C) Emanuel Macron

(D) Nicolas Sarkozy

ANS:- Zak Shirak

141: Which country won the Cricket World Cup 2019?
(A) England defeated New Zealand

(B) New Zealand defeated England

(C) England defeated India

(D) India defeated England

ANS:- England defeated New Zealand

142: By which year the Uttar Pradesh government has
targeted to increase forest cover in the state by 15 percent?
(A) 2020

(B) 2021

(C) 2022

(D) 2025

ANS:- 2022

143: The budgeting process in India is divided into four
phases. These steps include-
1. Formulation of budget

2. Enactment

3. Review

4. Audit

5. Implementation

6. Abbreviation

(A) 1,2, 3 and 4 only

(B) 1,2, 3 and 6 only
(©)1,2,4 and 5 only

(D) 1,3, 5 and 6 only
ANS:-1,2,4 and 5 only

138: Ay o Y.o1a BT WA IST SUGRTH! 8-
(A) FH

(B) HRd

(C) 3HReT

D)=

ANS:- HRd

139: af 2019 F for1 wemaii F 100 af R gu d 2
(A) Jde AR 3R SIfraraTar a7 g1

(B) 3G 3MTIa 3R HRd BIS! 3T Ia

(C) % TTE 3R TRER Ued Bl Jg

(D) WTd g oiR gucd &t wiht

ANS:- QT TATIE 3R Sferararar 91T gThis

140: BT 81 H 26 RIGSR, 2019 P wiw & gd wyufa &1 Fum gon
AR LK K

(A) TR ST

(B) 9 RR1H

(C) THTUS Hsh

(D) AP WISt

ANS:- 9% RRTS

141: fopdbe fay & 2019, fFa I Ft S A sftar 2
(A) TS A ol Pl GIBT

(B) TolIAiS 7 §7cS Y g1

(C) TS  URA P! SIIR

(D) HRd 3§70 Y BAHR

ANS:- 3T0S 9 EIAS B gRIHT

142: IR YR WHR gRI f5T a9 a9 U & a1Ts1e 3l 15
UfI=Td $IA T 9 IQ@TTATE 2

(A) 2020

(B) 2021

(C) 2022

(D) 2025

ANS:- 2022

143: HRd # golc P UfpaT I IR TR01 A TicT SITdT 8 | 57 990N
o gferferd §-
1.9v1e &1 fAmtor

2. 3
3.gAfdars

4.3 &[0T

5. forar=aa=

6. HETo

(A) AT 1,2,3T4
(B)PHdd 1,2,396
(C)PaA1,2,4T5
(D)PHAA1,3,53 6
ANS:-Hqd 1,2,495
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144: With respect to the 20th livestock census, the
following statements are / are correct.

1. Uttar Pradesh has seen the biggest decrease in cattle
population.

2. West Bengal has seen the largest increase in cattle
population by 15%.

(A)only 1

(B) only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

ANS:- Both 1 and 2

145: The Imnex exercise, 2019 was organized between the
navies of which two countries?

(A) India and Vietnam

(B) China and Japan

(C) Japan and America

(D) India and Myanmar

ANS:- India and Myanmar

146: The venue of the 22nd Commonwealth Games (2022)
is-

(A) Zhangzhou, China

(B) Birmingham, UK

(C) Paris, France

(D) Sydney, Australia

ANS:- Birmingham, UK

147: Which pair of upcoming sporting events and venues
is not correctly matched?

(A) 32nd Summer Olympics (2020) - Tokyo (Japan)

(B) 19th Asian Games (2022) - Hangzhou (China)

(C) 13th South Asian Games (2020) - Kathmandu (Nepal)
(D) 24th Winter Olympics (2022) - Cape Town (South
America)

ANS:- 24th Winter Olympics (2022) - Cape Town (South
America)

148: Match the List-I to List-II and select the correct

answer with the help given in the code below the lists-
List-1 List-11

(City) (river)

(A) London 1. Rhine

(B) Antwerp 2. Selt

(C) Rattendam 3. Thames

(D) Hamburg 4. Elbe

Code:

(A) 3A, 2B, 4C, 1D
(B) 3A, 4B, 2C, 1D
(C) 3A, 1B, 2C, 4D
(D) 3A, 2B, 1C, 4D
ANS:- 3A, 2B, 1C, 4D

144: 20 &Y I[N O & W FEfrf@T sy A wdi @
&

1. IR e H HARkml #t smardt A waw wrer w3 g 71
2. U3 e & HafRr a5t smardl § Jad fw 15% Pt gfs
S TR

(A) Had 1

(B) Had 2

(C)1d2 3!

D) Adr 1782

ANS:- 192 &Y

145: SUTGIAWTH, 2019 51 S 3= Y Y Q13 F wem mrAfora
frarman 2

(A) URd Td fogama

(B) ©F T4 SITUH

(C) SITUH U4 3ARaT

(D) HRd d |HR

ANS:- HRd 9 iR

146: 22 ¥ AIPHST e (2022) BT SIS VI o8-
(A) ST, <

147: TR B AT SR SATAIST RIS BT DI A1 T TE
TAfera gt & 2

(A) 32 9 UTSHSTE STAMIE (2020) - SFT (SIUM)

(B) 19 af TRMATE Ve (2022)- 8= ()

(C) 13 3 ferr TR W (2020)- HISHTE (AUT)

(D) 24 3 AAHTA M (2022)- FUCTIT (Gfr0T ARBT)
ANS:- 24 9 SdeTeH 3MeiU® (2022)- HUSTSH (&faor 3Af¥PT)

148: -1 D1 JEAt-11 A GAFera Hifore gyt gt & = kg e

Fe B HETAr A TE SW B YT
A1 At

AR) GLD)

(A) Fed 1.31349

(B) Yead 2.9

(C) AMeTe&H 3.¢

(D) g¥ 4.3

Pc:

(A) 3A, 2B, 4C, 1D
(B) 3A, 4B, 2C, 1D
(C) 3A, 1B, 2C, 4D
(D) 3A, 2B, 1C, 4D
ANS:- 3A, 2B, 1C, 4D
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149: From the point of view of the catchment area, which

is the longest river in the world,
(A) Indigo

(B) Amazon

(C) Congo

(D) Mississippi-Missouri

ANS:- Amazon

150: In which country is the Goble Desert located?
(A) Mexico

(B) Somalia

(C) Mongolia

(D) Egypt

ANS:- Mongolia

149: 3UATE &7 B =P A &l Iy Ft oA Fd T 8, T/ 8-
A) Ta

(B) 3fSH

(C) B

(D) ferfifRrdt_fareny

ANS:- A

150: Med wd g fRag?
(A) B!

(B) AHTferan

(C) Hmferan

(o) fra

ANS:- Hferar
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